R\ Choose the correct answer for each exercise and circle the number-letter pair next
to it. Write the letter in the matching numbered box at the bottom of the page.

Set 1. Simplify.
a.12 + (5 —-9)

b. —7(-1 + 8)

¢. 20 — (-3) + 15

d. (-5)(-4)(-18)
e. 16 — (-3 — 8)

f. '[—2 - (-9)] + 75

Set 1 Answers

ex) 27 -420
-45 EEDD 38

8 92
82 -49
30 @EEXD -360

Set 2. Simplify.

a. (-3-4) + (-4 3)

b. (21 — 30)(-12 + 1)

c. (-5)3(-1)"°

d. 100 - (-50) + (-25)

e. (-30 — 30) + (-5)

f. (64 =~ 8) + (-81 + 9)

Set 2 Answers

(19 AN 2 -0 Bl
&) 12 & 110
XD 20 XY 24
(18 - R Rl 15 < N By
€D 125 XD 15

Set 3. Simplify.
. =13+ 5
13 =156

b. (-2)%(=10)?

d. =140 —140 140

——

14 -1
e. 5(-3)°

77
b— -

99
-99

Set 3 Answers

€D -30 @O 4

-4 @XX3) 135
12 ~140
15 1600
24 2000

Set 4. Evalvateif a=-5,b=-8,and c = 2,

d. 2b = (—c)

e. ch® + a

Set 4 Answers

XD 7 D -
€33 123 @EED -

XD 130 EED 25
[ 4T KN 22 - R B
EZD -0 E&XO -3
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